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SECTION A – (10 × 2 = 20 marks)
Answer any TEN  questions
1. Define accounting standard.
2. Give the expansion for GAAP and IFRS.
3. Define a holding company.
4. Write a short note on minority Interest.
5. What is mutual owings?
6. What is meant by double accounting system?
7. Mention any two limitations of double account system.
8. What is voyage account?
9. What is bunker cost?
10. What is passage money?
11. What do you mean by Government accounting?
12. What is secondary container?
Section B – (5× 5=25 Marks)

Answer any FIVE questions

13. Explain the need for accounting standard.
14. Explain the salient features of double account system.
15. Explain the purpose of Government accounting.
16. Balance sheet as at 31st March 1994 are given below.
	Liabilities
	H.Ltd.
	S. Ltd.
	Assets
	H.Ltd.
	S. Ltd.

	Share Capital @100
	5,00,000
	2,00,000
	Fixed assets 
	3,00,000
	1,00,000

	Reserves
	1,00,000
	50,000
	60% shares in S Ltd 

acquired on 31.3.94 (cost)
	1,62,400
	-

	Creditors
	80,000
	60,000
	Current assets
	2,17,600
	2,04,000

	 
	 
	 
	Preliminary expenses
	 
	6,000

	 
	6,80,000
	3,10,000
	 
	6,80,000
	3,10,000


On 31st March 1994, S Ltd. revalued its fixed assets at Rs. 1, 10,000. Prepare the  consolidated balance sheet of H Ltd. and S Ltd. 
17. Prepare containers stock accounts from the following information

 Opening stock



    55,000

Purchases



         3, 20,000
Sale of containers scrapped

    12,000
Cost of container lost due to fire
    
    10,000

Containers in hand


             60,000

Charged on customers


         3, 15,000
18. The southern Railways built a station 20 years ago at a cost of `40,000. Owing to increase in the cost of labour and materials, a similar station would now cost `60,000. The station, having proved inadequate for the increased traffic, is rebuilt at a cost of `1,40,000. Old materials to the value of              `4,000 are utilized in the new construction and included in the above cost. The remaining old materials are sold for `6,000. Apportion the new expenditure between capital and revenue. 
19. A ship commenced its journey from Mumbai to Kolkata on 31st March on which date the accounts are closed. Ship was on its half way to Mumbai from Kolkata. Prepare Voyage A/C. The details for the entire voyage to Kolkata and back were

Freight 

                           80,000

Coal consumed 


14,000

Salaries consumed 

  6,000

Port charges 


  3,000

Salaries of crew 

 
  8,000

Depreciation 


  8,000

Insurance of ship

10,000

Insurance of freight

  4,000

Freight on return  
         30,000

Address commission            5%. 

Primage 

                  10%

Section C – (2×15=30 Marks)

Answer any TWO questions

20. Explain briefly any five Indian Accounting Standards.
21. Calcutta Electric Company Ltd. decides to replace its old plant with a modern one with a larger capacity. The plant was installed in 1985 at a cost of `24 lakhs. The components of materials, labour and overhead being in the ratio 5 : 3 : 2. It is ascertained that the costs of material and labour have gone up by 40% and 80%, respectively. The proportion of overheads to total costs is expected to remain the same as before.
The cost of the new plant as per improved design is `60 lakhs and in addition materials  recovered from the old plant having value of `2,40,000 was used in the construction of the new plant. The old plant was scrapped and sold for `7,50,000. The accounts of the company are maintained under Double Account System.

22. On 31st March, 1996 the Balance Sheet of H Ltd and its subsidiary S Ltd stood as follows :

	Liabilities
	H Ltd
	S Ltd
	         Assets
	H Ltd
	S Ltd

	Equity share capital
	8,00,000
	2,00,000
	Fixed assets
	  5,50,000
	1,00,000

	General reserve
	1,50,000
	   70,000
	75% of shares in S Ltd 
	  2,80,000
	 

	Profit & Loss A/c
	   90,000
	  55,000
	Stock
	  1,05,000
	1,77,000

	Creditors
	1,20,000
	  80,000
	Other current assets
	  2,25,000
	1,28,000

	 
	11,60,000
	4,05,000
	 
	11,60,000
	4,05,000


        Draw a consolidated Balance Sheet as at 31st March 1996 taking into consideration the following  

        information

     (a)  H Ltd acquired the shares on 31st July 1995.

(b)  S Ltd earned profit of `45,000 for the year ended 31stMarch 1996. 

(c)  In January 1996 S Ltd sold to H Ltd goods costing `15,000 for `20,000 on         

      31st March 1996 half of these goods were lying as unsold in the godown of H Ltd.

23. Goods are delivered by a manufacturing concern in drums which are valued in books at `20 per item, but charged out to customers at `40 each. Customers are, however, credited with `30 for each drum if returned within two months in good condition. Otherwise drums are not returnable, for which they are treated as sold. From the following information, draw up Drums Stock Account in the books of the manufacturing concern:

Stock in hand as on 1.1.2005




  5,000

Stock with customers as on 1.1.2005 (all returnable)
10,500

Purchased at `25 each during the year


           8,200

Sent to customer (new `5000)




16,500

Returned by customers





12,360

Destroyed by an accident




       
       80

Sold as scrap for `1500




              250

Repair charges `100
Out of the total number of drums lying with customers as on 31st Dec. 2005, 6,000 were not   returnable.
——————
[P.T.O.]
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